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Mark the letter A, B, C or D to indicate the word whose underlined part differs from
the other three in pronunciation in each of the following questions.
1. A.safety B. traffic C. station D. plane
2. A.included B. acted C. received D. waited
Mark the letter A, B, C or D to indicate the word that differs from the other three in
the position of primary stress in each of the following questions.
3. A. traffic B. helmet C. transport D. illegal
4.  A. gripping B. success C. perform D. award
Mark the letter A, B, C or D to to indicate the correct answer to each of the following
questions.

5. When there is a traffic jam it me a very long time to go home .
A. costs B. takes C. lasts D. spends
6. You should walk across the street the zebra crossing.
A.on B. in C. at D. from
7.  Let’s go to the CGV cinema. I’m sure you’ll find the film
A. excites B. excite C. excited D. exciting
8.  We like the film very much. The are unforgettable and the plot is gripping.
A. style B. action C. characters D. acting
9. Ihave never felt as as I did when I watched that horror film.
A. terrifying B. terrible C. terrify D. terrified
10. He forgot to give a before he turned left and got a ticket.
A. signal B. light C. sign D. hand
11. beginning with a terrible disaster, the film has a happy ending.
A. Although B. Despite of C. However D. In spite of
12. A film in which strange and frightening things happen is called a/an
A. comedy B. drama C. thriller D. animation
13. My mum the bus to work every day, but I cycle.
A. goes B. catches C. runs D. drives
14. does it take to go from Ha Noi to Ho Chi Minh City by plane?
A. How long B. How many C. How much D. How far
15. Hundreds of spieces of Hawaiian flowers have become extinct or rare land
development and the gazing of wild goats.
A. for B. because C. due to D. now that
16. The cinema changed completely at end of 1920s.
A.the-a B. the - the C. a- the D. an — the
17. There a bus station in the city centre, but it has been moved to the suburbs.
A. use to have B. were C. used to have D. used to be

18. Public in my town is good and cheap.



A. travel B. transport C.journey D. tour

19. That vampire film was extremely . I had my eyes closed half on the time!
A. hillarious B. moving C. gripping D. scary
20. I found the book so that I couldn't put it down.
A. tiring B. boring C. shocking D. gripping
21.  For the most part, young children spend their time playing, eating, and a lot.
A. sleeps B. they are sleeping
C. sleeping D. they sleep
22.  This morning, I was in a traffic jam and got to school fifteen minutes late.
A. catch B. block C. struck D. stuck
23. long hair when you were a teenager?
A. Used you to have B. Did you used to have
C. Did you use to have D. Are you used to having

Mark the letter A, B, C or D to indicate the underlined part that needs correction in
each of the following questions.
24. He always drives a bicycle with his hands on the handle bars.

A B C D
25. The children felt very terrifying when they watched that horror film.

A B C D
26. Bicycles are a cheap and efficient mean of transport.

A B C D

Mark the letter A, B, C or D to indicate the correct response to each of the following
exchanges.
27. “Could I ask you a few questions about your favorite movies?” - “ ”?
A. That sound good. C. Sure. Go ahead
B. Notabad idea D. But [ don’t want to
28. “How far is Vung Tau from Ho Chi Minh City?” - “ 7.
A. Itnot very far C. It takes about two hours or more.
B. It’s about 120 km D. You can get to Vung Tau by boat or bus.

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the
underlined word(s) in each of the following questions.
29. The end of the film was so moving that many people cried.

A. scary B. shocking C. exciting D. touching
30. Traffic congestion in many parts of the world is severe.
A. jam B. accident C. rules D. light

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the
underlined word(s) in each of the following questions.

31. I found the plot of the film exciting.

A. moving B. hilarious C. boring D. gripping

32. Although he spent much money on the film, it wasn’t a big success.

A. failure B. victory C. false D. advance



Read the following passage and mark the letter A, B, C or D to indicate the correct
word or phrase that best fits each of the numbered blanks.

Modern cinema audiences expect to see plenty of thrilling scenes in action films. These
scenes, which are known as stunts, are usually (33) by stuntmen who are specially
trained to do dangerous things safely. (34) can crash a car, but if you're shooting a
film, you have to be extremely pricise, sometimes stopping (35) in front of the
camera and film crew, At an early stage in the production, an expert stuntman is called in to
work out the action scenes and form a team. He is the only person who can go

(36) the wishes of the director (37) he will usually only do this in the
interest of safety.

33.  A.made B. performed C. given D. displayed

34. A.Everyone B. Anyone C. Someone D. No one

35. A.direct B. exact C. strict D. right

36. A.across B. through C. against D. over

37. A.despite B. although C.so D. otherwise

Read the following passage and mark the letter A, B, C or D to indicate the correct
answer to each of the questions.

Who are the best drivers? Which drivers are the safest on the roads? According to a recent
survey, young and inexperienced drivers are the most likely to have an accident. Older
drivers are more careful. Young men have the worst accident records of all. They often
choose faster cars with bigger engines. One of the most interesting facts in the survey is that
passengers have an effect on the driver. When young male drivers have their friends in the
car, their driving becomes worse. When their wife or girlfriend is in the car, however, their
driving is better. But this is not true for women. Their driving is more dangerous when their
husband or boyfriend is in the car. However, if their small children are riding in the
car, they drive more slowly and safely.

38. According to the survey, who are the most likely to have an accident?

A. Young and inexperienced drivers.  B. Old and inexperienced drivers.

C. Young and old female drivers. D. Old and experienced men.

39. Young men are likely to choose .

A. expensive cars B. fast cars with big engines

C. slow and safe cars D. slow cars with small engines

40. Who have an effect on the driver?

A. Parents B. Policemen C. Families D. Passengers
41. When young male drivers have their wife or girlfriend in the car, they drive
A. worse B. slowly C. better D. fast

42. The word 'they' in bold in the last sentence refers to

A. women B. husbands C. boyfriends D. small children

Mark the letter A, B, C, or D to indicate the sentence that best combines the root
sentences in such a way that their meaning remains unchanged.
43. She was very busy. She couldn't answer the phone.

A. Because she was very busy, she could answer the phone.



44,

45.

46.

B. Because she was very busy, she couldn't answer the phone.

C. Although she was very busy, she couldn't answer the phone.

D. Although she was very busy, she could answer the phone.

He was very tired. He kept on working.

A. In spite of he was very tired, he kept on working.

B. Although he was very tired, he kept on working.

C. Though his tiredness, he kept on working.

D. Despite he was very tired, he kept on working.

It was a comedy. We didn’t find it funny.

A. Because it was a comedy, we didn’t find it funny.

B. Although it was a comedy, but we didn’t find it funny.

C. We didn’t find it funny, so it was a comedy.

D. We didn’t find it funny although it was a comedy.

I enjoyed the film on TV yesterday evening. Nobody in my family liked it.

A. I enjoyed the film on TV yesterday evening; however, nobody in my family liked it.
B. I enjoyed the film on TV yesterday evening, so nobody in my family liked it..

C. Although enjoying the film on TV yesterday evening, nobody in my family liked it.
D. I enjoyed the film on TV yesterday evening otherwise nobody in my family liked it.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is
closest in meaning to each of the following questions.

47.

48.

49.

50.

The children laughed because of the funny story.

A. The children laughed because the story was funny.

B. The children laughed because the story is funny.

C. The children laughed because of the story funny.

D. The children laughed because it was funny.

I haven’t used my bike for years.

A. I haven’t used my bike for long ago

B. The last time [ used my bike was since years ago.

C. I last used my bike years ago.

D. I didn’t used my bike years ago.

When I was a young girl, chocolate was one of my favourites.
A. Chocolate used to be a favorite of mine when I was a young girl.
B. When very young, I like eating chocolate cakes.

C. Being a little girl, I like chocolate.

D. My favourite was chocolate as was a little girl.

Mary tried to keep calm although she was very disappointed.

A. Mary lost her temper because of her disappointment.

B. Mary was too disappointed to keep calm.

C. Despite her disappointment, Mary tried to keep calm.

D. Feeling disappointed, Mary tried to keep calm, but she failed.

END



